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Paper - PGDLL-02
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig yea-uF ‘31, ‘I’ dor ‘|’ dF Qo § a1 ud
Gug & MEGATTAR Ul T IR ST

Section - A 10 X2=20
(Very Short Answer type Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

gus - ‘3’
(3fer ofg ITRIT 99 T)
fAder : I oAl & IR I 21T 319 ITR &b YATER T TG,
TS arad a7 ferpad 30 oregl H uR=AfRT Hifwl udd e
2 3 & 2l

PGDLL-02/400/ 4 (1) (P.T.0)



138
1) (i) Adolescent
foparR

(ii) Appropriate Government
(iif) Women worker
qfgell %A
(iv) Child worker
EIEIECY
(v) Occupier
RIS

(vi) Bonded Labour
ST D

(vii) Minimum Wages
SRR

(viii) Factory Act. ? ?
HRGMT 3Terf1aH ?

(ix) Mines Act. ?

QT 3y ?

(x) Inspector

IRNEEY
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Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg IR Ue)

fAder: =gl TR UHT & IR ST 31T 3194 IR F S1fIfad 200

greq) # uRAIfAa I s w9 10 (G4) 3T &7 &

Explain the concept of Labour Welfare in India.
ARA H 217 HedT0l Bl FheuT 6l RN I

Explain various Labour Welfare theories.

ST Hedur b fAfte Ragrdl 6l areT S|

Explain different agencies of Labour Welfare.

ST HegTuT T fIfer TORe &Y T i

Explain effect of industrialization on workers.

Syforep R 3MENfIARur & T9Ta &Y IR Hifoiv|

Explain the ingredients of industrial society.

eI AT & AT dcal 6t R STl

Explain characteristics of contract labour.

STAfId #1fer o Ui i SRET SR

Explain the working hours for the labour.

SIfoepl b BT &b GUST hT INT DI |

Explain Role of Labour Welfare Officer in a Factory.

U HRE H S -HeAT0r TIBHRT Y it it arer S|
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Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
20 marks.

(Tvs - )
(Sref ITR aTet U )

fAder : fh=g Q1 Tl b1 IR IV 31T 319 IR B 31f&epdd 500
et o ufAifia HifTe) da e 20 (F17) it @1 gl

10) Explain the characteristics of Factories Act 1948.

BHRGTT 3fIIH, 1948 & oI Dl T HIRTY|

11) “The main causes of production losses, lie in the social
background of labour” discuss.
"' IeUTG H HHT AT &Y BT HET HRUT HfHeh] bl AHIRTD TSI
g — o= il

12) Explain the characteristics of the Bonded Labour [Abolition]
Act 1986.
ST AP (I ) TaeAT MAFIH, 1986 D Ul T AT
HIfTT

13) Explain the characteristics of the Child Labour Act 1986.
I Hiffep JAfafa, 1986 & 0N &l ARET HIfT|
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